
MB0019

Kawasaki ZX-10R '16 Full System "Competition"

  Full System Competition Race Tech71154CKZ
  Full Titanium Competition Race Tech71155CKZ

5210785 Stainless steel
5214384 Titanium
Collector 1

5211282 Stainless steel
5214634 Titanium
Collector 2

5211283 Stainless steel
5214635 Titanium
Collector 3

5211284 Stainless steel
5214636 Titanium
Colector 4

5750429 Stainless steel
5748265 Titanium
4:2 RH Manifold

5750428 Stainless steel
5748264 Titanium

4:2 LH Manifold

Titanium
5740311

2:1 Mid pipe
A

Vista A

B

Vista B

5008986
Front assembly

5495034
Strap for rivets

3608011
4,8 mm Rivet

5495034
Strap for rivets

3608011
4,8 mm Rivet

5009469
Rear assembly

3640048
Seeger

5930085
dB Killer

5704115
Carby cap

3608010
3 Rivet

material 5690138
Sound-absordant

3881839
Sticker

5890911
Silencer

5260709
Sleeve

5846232
Bracket

5490007
Clamp

3640002
Lockwasher

3896050
Screw TBEI M8x20

3640004
Lockwasher

3896177
Screw TBEI M8x25

3640004
Lockwasher

3048004
Bolt

5281003
Spring

3240015
Rubber

5704005
Carby protection

3896153
Screw TCEI M10x60

3640003
Lockwasher

3640003
Lockwasher

3048003
Bolt

3896116
Screw TBEI M6x12
3240046
Rubber

plug bolt 5175001
M18 Lambda sensor

plug bolt 5175012
M18 Lambda sensor

Adaptor

5165482
Bushing

5525021
Flangia


